PR SR A
TERAE (/T E)

10-AS-FG %7

BSRTAE

10 — AS 2|3][1]1 F G—01

EERT
E@HRT
1 M5E A
2 1/8. 1484
3| ssER ERREIMEE
4| 1eEE DR
N 23 | 032 3
[2] =% | 04 04
T o6 | o6
. s 08 8
BIzTE 101 10
[o] #swn 2 o2
(] sssm | %) EARENERE, WA
RSk,
ﬁ'ﬁiﬁ%ﬁ%‘: FEE Mo 1/8" MERE .
TEEMAAE (SUS303)
FEEOR
M5 M5x0.8
01 R1/8
02 R1/4
03 R3/8
04 R1/2
(—
[
=2 i
i
&3 =) Y —
1 ) < 1
|
EE & = e
h-fii; ~ v = Eh v 5
N 2 “ = NE ﬁ o
L)) 3 = :
= = -
PR polok]
ns
EREENME
TR TR FiEEOR AR
3.2 4 6 8 10 12
10-AS12[ J1IFG-M5 10-AS13[ J1FG-M5 M5x0.8 [ [ [
10-AS22[ J1FG-01 10-AS23[ ]1FG-01 R1/8 ] ) [} [ ) [ 1o
10-AS22[ J1FG-02 10-AS23[ ]1FG-02 R1/4 ® ® ) [
10-AS32[ J1FG-02 10-AS33[J1FG-02 R1/4 ° D) [ ) °
10-AS32[J1FG-03 10-AS33[]1FG-03 R3/8 ° ® [ ) [ )
10-AS42[ J1FG-04 10-AS43[ ]1FG-04 R1/2 [ ) )

FET) ST, ESTRASMLIRAS],

E2) HARE LA,

1275

FARBE A ERE 7 EiT SRR,

O
3



HunE s mEEsE 10-AS-FG
Mg
HRIET EH 1.5MPa
EaEREN 1MPa .
SEERESN 0.1MPa E
NERERERREEE -5~60°C (T54) f,g
ERREMR Bl #
{ERABAE BREBE
ERESR(SO%R) %45 —
1) RS R A AES (20C ) 50.8MPa, ol
(EASRANERNERAR.)
mERFERS iz
T
o 10-AS12J1FG 10-AS22[]1FG-[]01 | 10-AS22[]1FG-[]02 10-AS32[J1FG 10-AS42[]1FG B
= 10-AS13001FG | 10-AS230J1FG-CJ01 | 10-AS23J1FG-[102 |  10-AS33011FG 10-AS43011FG
03.2 03.2 26 o4 26 o8 06 28 210 210 012
EREIME A 04 o4 08 10 012
06 210
8L /min (ANR) 100 180 230 | 260 | 390 | 460 | 660 | 790 | 920 | 1580 1710 ;T{
BHRE
RRE fﬁﬁ% 0.28 050 064 | 072 | 11 | 13 | 18 | 22 | 26 44 48
m?/(s-bar)
BHRE 02 0.25 0.3 0.25 0.25
IS HERE 0.4 0.2 0.3 0.2 0.3
3¥) & #0.5MPa, JREF20°CHI1A. #E
147
JL=E
HE
$HR/mEFE
10-AS12[J1FG 10-AS22[J1FG-01 10-AS22[11FG-02 o
10-AS13[]1FG 10-AS23[]1FG-01 10-AS23[]1FG-02 =
o0 XM Jo5MPa —AWE7 |05MPa / —RWEA|: 05MPa ;
200 400
2 2 2 //
Z z o Z 30 s
= T Sfs z 2 /7 T
S s 3 100 £ S 200 $ / ]
" ] / H /& =
JT
100 x
s 5 10 0 5 10 L 5 10
SingHEL @ kB sHagEL pr
10-AS32[]1FG 10-AS42[]1FG ﬁ
10-AS33J1FG 10-AS43[]1FG
—RWE ] 05MPa —RMEAN] 05MPa |,y
1000 10
10,12 1500
g e g /
< 06 <
£ < 1000
3 500 3
m 5
IS 5 500
0 0

10
st E S B

5 10
s E K

O
3

1276



iR EERHE 10-AS-FG

A faicly
SIMERSTE /B R
H
EMEEMEod (X fa i)
< -
AERANTAE |
@
T 3
i M1
oD2 L1
L2 T
M5
& AR ESMEed
L4 A =
pila= d T H D1 D2 L1 L2 L3 M1 R
MAX. | MIN. | MAX. | MIN. [¢]
10-AS12[J1FG-M5-23 3.2 8.4
17.3 221 123 12.7
10-AS12[J1FG-M5-04 4 M5x0.8 8 9.3 96 28.6 258 | 25 222 7
10-AS12[]1FG-M5-06 6 1.6 18.1 229 | 117 135
10-AS22[J1FG-01-23 3.2 16
9.3 12.7
10-AS22[J1FG-01-04 4 20.4 275 143 17
10-AS22[]1FG-01-06 6 R1/8 12 1.6 14.2 ’ 36.1 31.1 32.1 271 135
10-AS22[]1FG-01-08 8 15.2 25.3 324 185 19
10-AS22[]1FG-01-10 10 185 33.1 40.2 15 21 21
10-AS22[]1FG-02-04 4 104 16
252 34.4 32
10-AS22[]1FG-02-06 6 12.8 18.2 17
17 185 40.4 354 | 344 294
10-AS22[]J1FG-02-08 8 15.2 272 36.4 185 34
10-AS22[]J1FG-02-10 10 R1/4 185 35.3 445 | 20 21 36
10-AS32[]1FG-02-06 6 12.8 27.8 39.3 17 60
10-AS32[J1FG-02-08 8 16.2 295 41 185 63
218 48.8 438 | 428 37.8
10-AS32[J1FG-02-10 10 185 31.8 433 21 67
10-AS32[J1FG-02-12 12 19 20.9 23 32.8 443 22 69
10-AS32[]1FG-03-06 6 12.8 27.8 39.3 17 55
10-AS32[]1FG-03-08 8 15.2 295 41 185 57
R3/8 20.9 46.5 415 | 402 35.2
10-AS32[]J1FG-03-10 10 185 31.8 433 21 59
10-AS32[]1FG-03-12 12 209 328 443 22 61
10-AS42[]1FG-04-10 10 185 33.6 47.9 21 100
R1/2 24 286 254 57.6 50.1 49.6 421
10-AS42[]1FG-04-12 12 20.9 34.6 489 22 101
MIRGT NESE R T
1277



WhREELEEEE 10-AS-FG

A
SMERSTE/ T EE
bil
i& AR g sMEod &
oD1 H £
)
(Rfxtih) f—é
f— G
H
4 5
- RS ﬂ
<
-
I 3 I | <
S
—
1
il
T Z
£
oD2 L
L2
M5 I7 & —
5
IS
«| 5
9
3
12 b % E
S (47
JLE
%5
oD2
"
B
Eao
F.
L5 A R
RS d T H| Dl | D2 | D3 | L1 | L2 | L3 | L4 m | RE
MAX. | MIN. | MAX. | MIN. 9
10-AS13[]1FG-M5-23 3.2 8.4 19.8
17.5 | 287 12.7 E
10-AS13[]1FG-M5-04 4 |M5x08| 8| 93| 96 10.8 | 203 286 | 258 | 25 | 222 7 b
10-AS13[]1FG-M5-06 6 1.6 9.3 214 | 206 135 %Ti
10-AS23[11FG-01-23 3.2 8.4 24.4 31.8 17 TT
13.1 175 12.7 s
10-AS23[11FG-01-04 4 9.3 249
R1/8 | 12 14.2 36.1 | 31.1 | 3821 | 27.1 18
10-AS23[]1FG-01-06 6 11.6 109 | 14 | 269 | 229 | 37.2 135
10-AS23[]1FG-01-08 8 15.2 12.9 162 309 | 282 | 41.7 185 | 21 =
10-AS23[]1FG-02-04 4 10.4 10.9 1306 | 21.9 | 40.1 16 32 %
o
10-AS23[]1FG-02-06 6 12.8 184 | 34 | 252 | 426 17 33 §
17 18.5 404 | 354 | 344 | 29.4
10-AS23[]1FG-02-08 8 15.2 183 | 352 | 282 | 456 185 | 36
10-AS23[]1FG-02-10 10 Ri/a 185 12.9 | 202 | 387 | 31 484 21 40
10-AS33[]1FG-02-06 6 12.8 206 385 | 252 | 47 17 60
10-AS33[11FG-02-08 8 15.2 " 1397 | 282 | 50 185 | 63
488 | 438 | 428 | 37.8
10-AS33[11FG-02-10 10 185 162 | 23 437 | 326 | 544 21 67
10-AS33[11FG-02-12 12 19 20.9 03 ’ 449 | 344 | 56.2 22 69
10-AS33[]1FG-03-06 6 128 129 | 206 385 | 252 | 46.1 17 56
10-AS33[]1FG-03-08 8 15.2 ’ | 397 | 282 | 49.1 185 | 59
R3/8 465 | 415 | 402 | 35.2
10-AS33[]1FG-03-10 10 18.5 437 | 326 | 535 21 63
162 | 23 E
10-AS33[]1FG-03-12 12 20.9 449 | 344 | 553 22 65
10-AS43[]1FG-04-10 10 185 162 | 258 | 49.4 | 326 | 58 21 104 fé
R1/2 | 24 28.6 57.6 | 50.1 | 49.6 | 42.1 =
10-AS43[11FG-04-12 12 20.9 19.4 | 268 | 52 | 363 | 61.7 22 105

%E C 1278



